



1-11111111111111111111
 2-22222222222222222222

$$\sqrt{L^2 + d^2} = r$$

$$r \sin \varphi = L$$

$$r \cos \varphi = d$$

$$\vec{V}_{PA} = (V_a \cos \varphi, V_a \sin \varphi)$$

$$\vec{V}_{PA} = \vec{V}_{BA} + \vec{V}_{PB} = \vec{V}_r + \vec{V}_{PB}$$

$$V_a \cos \varphi = V_r \cos \theta + V_b \cos \alpha \quad \text{X כ"ס}$$

$$V_a \sin \varphi = V_r \sin \theta + V_b \sin \alpha \quad \text{Y כ"ס}$$

$$V_a = \frac{V_r \cos \theta + V_b \cos \alpha}{\cos \varphi} = \frac{V_r \sin \theta + V_b \sin \alpha}{\sin \varphi} \quad \alpha \text{ נמצא}$$

$$V_r \cos \theta \sin \varphi + V_b \cos \alpha \sin \varphi = V_r \sin \theta \cos \varphi + V_b \sin \alpha \cos \varphi$$

$$V_r (\cos \theta \sin \varphi - \sin \theta \cos \varphi) = V_b (\sin \alpha \cos \varphi - \cos \alpha \sin \varphi)$$

$$V_r \sin(\theta - \varphi) = V_b \sin(\alpha - \varphi)$$

$$\frac{V_r}{V_b} \sin(\theta - \varphi) = \sin(\alpha - \varphi)$$

אם $\theta = 40^\circ$ ו- $\varphi = 0^\circ$ אז $\sin(\theta - \varphi) = \sin 40^\circ$ ו- $\sin(\alpha - \varphi) = \sin \alpha$ ולכן $\frac{V_r}{V_b} \sin 40^\circ = \sin \alpha$